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written on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book
before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
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TR 3397 :
HETIAIET 14591 1 Sgd GIFe] & JI6Y 37K I7H1 G&d] & Tt BT :

(1)
(it)
(iit)

(iv)
(v)
(vi)
(vii)
(viii)

(ix)

57 J97-97 H 38 7 & | @HT I AT & |

I8 J97-97 Qi @USI H [@yifGid 86— &, @, T, 909 & |

GUE & H Y7 G&I7 1 & 18 T% Fglasedid a9l Jo7 G&I7 19 TF 20 ST4HIT

T q@b SMEIRT 1 3% & I & |

g G 4 J97 G&IT 21 @ 25 7% 377 TY-IHRIT (VSA) FHR 3 2 3] & J97 3 |

@Ug T 4 97 G&IT 26 T 31 T TG-370 (SA) JPR & 3 37H] & FoT & |
TUE g 4 Y97 &7 32 G 35 d% A4-37F (LA) IFR & 5 3Hl & 97 & |
TUE T 4 Y97 G&IT 36 T 38 JHU 37ETqT ST 4 37HT & J97 8 |

J97-97 § GHT faheq 787 1397 T 8 | TEU, @ve @ @ 2 ¥l H, @V T & 3 JuI
4, @8 7 &2 I 4 79T @8 & P 2 o9 § Hake® [9eheq &1 Jaer 1591 737
g1

Fopaict HT ITIIT FlAd & |

@usg <

39 GUS H Fglaehe iy o 8, 1578 I J97 1 3% H & |

8 2 7

12 3 5| R HAAE:

16 4 3

A) O B) 2
C) 7 D) -2

2
A y-sinlxd, @ LY 2.
dx2

(A) secy (B) secytany
(C) sec?ytany (D) tan?ysecy
RIS |§>| =23 -3<k<2%,d |k;| e:

(A) [-6,4] (B) 10, 4]

(C) [4,6] (D) [0, 6]
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1.

8 2 7
The valueof |12 3 5]is:

16 4 3
A O B 2
< 7 D) -2
Ify = sin~! x, then @ 1S :

dx?

(A) secy (B) secytany
(C) sec?ytany (D) tan?ysecy

— —
If| a|=2and-3<k<2,then | ka | €:
(A [-6,4] (B) 10, 4]
(C) [4,6] (D) [0, 6l
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4. aﬁ@%@aﬁx-aeﬂaﬁtz-aaﬁwmﬁmaﬁﬁgwﬁwatrﬁﬁ%,?ﬁ
Ig T y-31&7 Shl YTcHeh TG | S hivr a1t 8, 98 2 ¢

T

A 0 B) - <© = (D) =w

4 2
5. = fCu U gETa & i, Feigl 1 HHEfIRgd § € HF -9 g HEUd
g7

1

Ay

(A) x+2y<76,2x+y>104,x,y>0
B) x+2y<76,2x+y<104,x,y>0
C) x+2y2>276,2x+y<104,x,y>0
D) x+2y2>276,2x+y>104,%x,y>0

2 0 0
6. 3JITA=|0 3 0|7 AALlTR:
0 0 5
10 o 19 o
2 2
@& lo L o @ 3s0lo L o
3 3
o o I o o I
i 5| I 5|
L9 o
L [2 000 I
© —1|0 3 o0 M — |0 = 0
30 30 3
0 0 5 1
0 0 =
i 5
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If a line makes an angle of g with the positive directions of both x-axis

and z-axis, then the angle which it makes with the positive direction of
y-axis is :

A) O (B)

© 3 D)
Of the following, which group of constraints represents the feasible

region given below ?

>3

(A)
(B)
()
(D)

6. If A=

(A)

65/3/3-13

AY

N

N

X+2y<76,2x+y>104,x,y>0
X+2y<76,2x+y<104,x,y>0
X+2y2>276,2x+y<104,x,y>0
X+2y2>276,2x+y>104,x,y>0

2 0 0
0 3 0],thenAlis:
0 0 5
2 00 2
0 % 0 B) 300
0o 0 = 0
L o | .
1
2 0 0 2
% 0 3 0 D) % 0
0 0 5
0
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10.

11.

12.

M A = [ay] T dedHS Ao 7, A1 Fefetfed § @ wH -1 @& 2 2

0, A% i=j
A =4
WAy {1, RIS TS

(B) au = 1, \vd l,J

0, AT i#]

D o=
D2y {1, afq i=j

HH S ok Z quiiehl 1 0= &, @ % f:Z — Z 31 fix) = x5 — 1 g
qRwTiya 3 ¢

(A)  Uchehl 3R ST=B1EH GHI &

(B) TUshehl § =g T<BIEH ol o
(C) ATBICH & g Tehehl ol o
(D) T Tehehl 8 3R T & A=SEH

(C) alJ = 0, v I,J

ﬂﬂTA:E ﬂ@ﬁ&lo&@%&«%hade:A%laa, (a+b+c+d
T R

(A) 2a B) 2b

C) Z2c (D) O

BT fix)= |1-x+ |x]| | :

(A) THdd g had x= 1N (B) fHdd @ had x =0 W

(C) 3EAI2x=0,1W (D) & fog W Eqd &

T TSl o JS319 &FT%d H qiade hl X 38eh! BISAT " s |98, 56 r = 4 cm,
i

(A) 641 cmZ/cm (B) 48t cmZ/cm
(C) 32ncm?Z/em (D) 16m cm%/cm

:a[ f(x) dx = 0, I :

A fl—x) =1lx) B) f—x)=-1fx)
(C) fla—x) =1x) (D) fla—x)=-1x)
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7. IfA= [aij] is an identity matrix, then which of the following is true ?

0, if i=j ..
.. 0, if i#]
© 2;=0,Vi,] . aij:{l, if i=j

8. Let Z denote the set of integers, then function f : Z — Z defined as
fix)=x3—1is:
(A)  both one-one and onto
(B)  one-one but not onto
(C)  onto but not one-one

(D) neither one-one nor onto

a b

9. Let A =
© Ld

} be a square matrix such that adj A = A. Then,

(a+b+c+d)isequal to:
(A) 2a B) 2b
C) 2c D) o0

10. A function f(x) = |1—-x+ |x]| | is:
(A) discontinuous at x = 1 only (B) discontinuous at x = 0 only

(C) discontinuous atx=0, 1 (D)  continuous everywhere

11. The rate of change of surface area of a sphere with respect to its radius

r,whenr =4 cm, is :
(A) 64n cm?%/cm (B) 48t cmZ/cm
(C) 32ncm?%cem (D) 16m cm?%/cm

12. _[ flx) dx = 0, if :
A f(—x)=1x) B) fl—x)=-1x)
©)  fla—x =fx) D) fla—x) = fx)
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13.

14.

15.

16.

17.

18.

Xlong—y +y =2 log x Teh 3qTaLUI 2
X

(A) JIFRTT =X Il 3TTehe] THIHLT 1 |

(B) HHHTAI 3Tdehcl GHIhL <l |

(C) 9 whife o IRgeh 3Tashet THIHT I |

(D) UY 7dshal THR &1 foreeh! g1d aftfyd 78t 2 |

A =2t kel =i+ kS Wa b
A) T giew S fr gl T8

(B) HHIR gfew
(C) WER dudad aiem
(D)  HTeh gfest

Ife Teh W1 x, y 3T z &7 <l orcHeh a3 < T ShuSM: o, B 3T y HIOT ST
?, @1 fafaifaq o @ wH-T1 97 787 & 2

(A) cos2o+cos2P+cosZy=1
(B) sin?a +sin? B + sinZy =2
(C) cos2a+cos2B+cos2y=-1

(D) cosa+cosP+cosy=1

Teh tRgeh TUTHT IS o 3238 o | FHurEes =0 W o Ifaee shedrd @
(A) g & (B) =gaUg
(C) 3 & (D)  IFGHTE &

AT E 3R F & vl g 8 e fow P(E) = 01, P(F) = 03, PEE U F) = 0-4
g, M PF|E)T :

(A 06 (B) 04 (C) 05 D) 0
Ife A 3R B gl foww gl 3g &, d1 (AB + BA) T :

(A)  Tawg Tufia Tz s (B) wHMHA g B

(C) I A g (D) dcEH g B
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13.

14.

15.

16.

17.

18.

x log x j—y +y =2 log x is an example of a :
X

(A) variable separable differential equation.
(B) homogeneous differential equation.
(C)  first order linear differential equation.

(D) differential equation whose degree is not defined.

If;=2/i\ —3'\ +12andg>=/i\ +3'\—12,then;andg)are:
(A)  collinear vectors which are not parallel

(B) parallel vectors

(C)  perpendicular vectors

(D)  unit vectors

If a, p and y are the angles which a line makes with positive directions of
x, y and z axes respectively, then which of the following is not true ?

(A)  cos?o+cos?p+cos?y=1

(B) sin?a + sin? B + sinZy =2

(C) cos2a+cos2B+cos2y=-1

(D) cosa+cosP+cosy=1

The restrictions imposed on decision variables involved in an objective
function of a linear programming problem are called :

(A) feasible solutions (B) constraints

(C)  optimal solutions (D) infeasible solutions

Let E and F be two events such that P(E) = 0-1, P(F) = 0-3, P(E UF) = 0-4,
then P(F|E) is :
A) 06 (B) 04 (C) 05 (D) O

If A and B are two skew symmetric matrices, then (AB + BA) is :
(A) askew symmetric matrix (B) a symmetric matrix

(C)  anull matrix (D) an identity matrix

65/3/3-13 Page 9 of 23 P.T.O.
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J97 &1 19 3K 20 379597 U5 q& Rd 997 & | & %97 130 77 & 598 v &)
SITYFIT (A) T TR H1 T% (R) FRT 37l 13537 7971 & | 57 F91 & @&l I} 714 157
77 gl (A), (B), (C) 3R (D) H & F7a Z1q |

(A) AR (A) 3R @b (R) gHT H&l & TR @b (R), ANk (A) Fi @&t
ST HLdT 2 |

(B) 3AfYHYT (A) 3R b (R) HT Tl &, Tg dob (R), 31 (A) HT T&l
AT g1 il 3 |

(C) AMHeH (A) T& 8, Wg e (R) TeId & |
(D)  37HA (A) A B, T ok (R) T 7 |

19.  3f%e (A) : T SRR TR WRT & B R, a.(ca)=(-a).a =—1.

TR a W) F S AR
20. SHHIT(A): TcAh IACY ATHE Teh foehvl HTIE BT & |
7% (R) : T foenul oTTeg H, foeRul o ot ofewe I B ¢ |
Qs 9

37 U 4 37fq TY-3F0T (VSA) IR & J97 8, [578 59% &2 3% 3 |

- o - —

21. a, b 3W ¢ N TER TEAq HESG AW 7 | AR a
e S
(22 +3b +6¢ ) S HI IV 07, dl cos O A JTd HIT |

3R

[aNaN

22, HiA Jld epllsiy @

cot2 {cosec_1 3}+ sin 2 {cos_l(lj}
3

23, (F) R x=e 3, A fug Hifm 5 D _ logx—]
dx  (logx)

HAAAT

2 O
(@) fx)=1" Lo Osx<l 5 L -1 w srameria 81 &) St AR |
3—-x, 1<x<2
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Questions number 19 and 20 are Assertion and Reason based questions. Two

statements are given, one labelled Assertion (A) and the other labelled Reason

(R). Select the correct answer from the codes (A), (B), (C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
a)=(-a).a =—1

- >
19. Assertion (A) : For any non-zero unit vector a , a . (-

—> A T
Reason (R): Angle between a and (-a ) is k

20. Assertion (A) : Every scalar matrix is a diagonal matrix.

Reason (R): In a diagonal matrix, all the diagonal elements are 0.

SECTION B
This section comprises very short answer (VSA) type questions of 2 marks each.

- > —
21. a, b and c are three mutually perpendicular unit vectors. If 0 is the

— — — —
angle between a and (2a +3b + 6 c ), find the value of cos 6.
22. Evaluate :

cot2 {cosec_1 3}+ sin 2 {cos_l(lj}
3

23. (a) Ifx=e¥Y, prove that dy _ log X_zl
dx  (logx)

OR

2
(b)  Check the differentiability of f(x) = {X Lo Osx<l vt

3—-x, 1<x<2

65/3/3-13 Page 11 of 23 P.T.O.
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24.

25.

(%) ¥HH TG HIT :

/2
j sin 2x cos 3x dx
0

AYAT

(@) fmmni L Fe= L s F() =0, Fx) T HIT |
dx 2% — x2

fig A it B, forrer foufd aRm w1 + 2] —k oft —i +j + k & =i

fHeT ot @1 i 4 : 1% AT § el fawiisia =6 o feig C o1 feafa
—> —

gfewr i IS | | AB | : | BC | ot Sma shifvrg |

Que 1

39 GUZ § TY-FTHIT (SA) FHR & F97 8, 1978 Jcd% & 3 3% 3 |

26.

27.

frefeiigd Waes T gwen = o fafa | g i
1 =atal & ofad

2x + 5y <100

8x + 5y <200

x>20,y=20

Z =X+ y %l ATThaHRT hHIfT |

P, Q 3R R Thefl Ut % CEO & €4 § T4 I <hl GHEHTC huST: 4:1: 2
% F9Td H g | 7T CEO, P, Q I R d&d Ul o ISt I8 hi ol H oy
S hl TR HATT: 0-3, 0-8 3T 0-5 7 | e YT fUDet a¥ & ATH FQrd!

8, dI ITRIshd1 1 hIT foh o8 R CEO % 9g W Yth & T g8 ¢ |
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24.

25.

(a) Evaluate :
n/2

j sin 2x cos 3x dx
0

OR

(b)  Given d F(x) = _ and F(1) = 0, find F(x).
dX 2X _ X2

Find the position vector of point C which divides the line segment joining
A A A AN A A
points A and B having position vectors i + 2j —k and -1 + j + k

—> —
respectively in the ratio 4 : 1 externally. Further, find | AB | : | BC |.

SECTION C

This section comprises short answer (SA) type questions of 3 marks each.

26.

27.

Solve the following linear programming problem graphically :
Maximize z=xX+Yy
subject to constraints

2x + 5y <100

8x + 5y <200

x2>20,y=>0.

The chances of P, Q and R getting selected as CEO of a company are in
the ratio 4 : 1 : 2 respectively. The probabilities for the company to
increase its profits from the previous year under the new CEO, P, Q or R
are 0-3, 0-8 and 0-5 respectively. If the company increased the profits
from the previous year, find the probability that it is due to the
appointment of R as CEO.

65/3/3-13 Page 13 of 23 P.T.O.




?Ilﬁ'xcos(p+y)+cospsin(p+y)=035’,T‘ﬁﬁ?@ﬁﬁm%
cospg—y =—cos2(p+y),3|ﬁ pf@l’(@% |
X

AT

a3 b 9 AN T shifoe fSieh fow ®wee £, s aitwrfoa 2 -

X -2 +a, IR x<2
|x - 2]

fix)=<a+Db, I x=2

X -2 + b, Ife x> 2
|x—2]

gad oA 2 |

AT T iU R B f(x) = 08X e G o1 Biq zrEme
X
2|

AT

AU [1, 2] § fix) = §+g ¢ Yad ®od f % e I=dH 3N
X
fruer ey 7 6t a9 HiN |

30. I HiINT :

31. (=)
(@)
65/3/3-13

| e
— dx
x+1)(x-1)

NI $ifST
2+s1n 2x oX dx
1+cos 2x
AT

TH F1d i

n/4

1
J. - dx
sin X + cosx
0
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28. (a)
(b)
29. (a)
(b)
30. Find:
31. (a)
(b)
65/3/3-13

If x cos (p +y) + cos p sin (p +y) =0, prove that

d :
cos p d—y = — cos? (p + y), where p is a constant.
X

OR

Find the value of a and b so that function f defined as :

X2 4 if x<2
|x - 2]

fix)=<a+b, if x=2
X=2 b if x>2
|x - 2]

1s a continuous function.

log x
X

Find the intervals in which the function f(x) = is strictly
increasing or strictly decreasing.

OR

Find the absolute maximum and absolute minimum values of the

function f given by f(x) = g + 2 , on the interval [1, 2].
X

J' Jx 1
— dx
x+1D(x-1)

Find :
2+s1n 2x oX dx
1+cos 2x

OR

Evaluate :

n/4

1
J - dx
sin X + cosx
0

Page 15 of 23
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39 GUE 7 HH-IRIT (LA) YR & J97 & 578 Jcdb & 5 37 & |

32. (%) %@Tﬁ?:y‘1=z‘2 g X1 _ Y =Z;7é€uﬂ1v€9¢l ferg

2 3 0 -3
Y TERA dTefl 38 @1 R FHIRW Hd hINT S 3 @ TR @IS h
A B |

arere

(@) U® a9 9gisl ABCD o &1 39 A(-1, 2, 1) 3R B(1,-2,5) % | A C

S D & T ot Y@ wfe Xt _ YT _ 228 5 g
1 -2 2

qesli AB 3 CD % i@ #1 gt ¥ HIRMC | o7, FAR IS
ABCD %7 &%l Td hIfT |

33. AR WSUfR A=R-— {3}3ﬁ1‘B R—{a}8 | ‘@’ HAF I1d hifv S8 wed
f:A > B flx) = mrrtr&uﬁﬁa% =Bk 3 | I8 Wt I hifse fom

w%mwwqﬁ%m:@ |

34. (&) Teammm g o e fix) = x% — 62x2 + ax + 9 TIFT I=qH AH x = 1 W
T LT & | ‘@’ 1 A HTd i, 3R @l 37 forg 3ra <hiforg 5=
T 39 Bl f(x) 1 LA I=aq A1 AT a9 719 91ed 8 @ |

AT

(@) TH ARIAIHR YTq <l =G BT IRATT 300 cm & | Toh foeist s9M & fau

U] Ueh AR § YT AT & | AR =7el <hl fomd 3ia hifse
foga s U fgeie w1 STEad Afeean &8l |

35. THTheH & AT H, b y = |/4—x2 a1 W3l x = -1, x = 1 a1 x-3781 ¥ i

&3 1 ATRA I hIFT |

65/3/3-13 Page 16 of 23




SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32. (a) Find the equation of the line passing through the point of

intersection of the lines X _ y-1 = z—2 and x—1 =5 = z—1
1 2 3 0 -3 2

and perpendicular to these given lines.

OR

(b)  Two vertices of the parallelogram ABCD are given as A(-1, 2, 1)
and B(1, -2, 5). If the equation of the line passing through C and D

XI4 =7 +27 = = ; 8 , then find the distance between sides AB

and CD. Hence, find the area of parallelogram ABCD.

18

33. Let A=R - {3} and B = R — {a}. Find the value of ‘a’ such that the
function f: A — B defined by f(x) = X=2 is onto. Also, check whether the

X —

given function is one-one or not.

34. (a) It is given that function f(x) = x* — 62x2 + ax + 9 attains local
maximum value at x = 1. Find the value of ‘a’, hence obtain all
other points where the given function f(x) attains local maximum
or local minimum values.

OR

(b)  The perimeter of a rectangular metallic sheet is 300 cm. It is rolled
along one of its sides to form a cylinder. Find the dimensions of the
rectangular sheet so that volume of cylinder so formed is

maximum.

35. Using integration, find the area of the region enclosed between the curve

y = 4-x? and the lines x = -1, x = 1 and the x-axis.

65/3/3-13 Page 17 of 23 P.T.O.
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3G GUS H 3 YU I ITEIRT J97 &, 578 Iedb & 4 7% & |
ThIOT HEIIA - 1
36. BEIM T BF HI W& &% U PAH FEH H WG A o 0T JGH hl I
Irefl g 2 | FD BT Bl IAeh! ALh ITATCAT oh IUX W B ol
STl &, Seleh 317 Wi 3! foxfla STavaehdiali o STUR W J&hd fohal ST

2|

T Y Th Thd $S AMGS & YR T Il X HYT IuAfed g
T Al hl DG YGH AT 3 | T 2022 — 23 H, TR 5 FS SHTAT I
T 3,000 Y <! AT BEGRT R A&k 3K A1 & @ H HaTell Iqafed
BIES S aTdl ol T 4,000 Yedeh hl TG SEG hl IR H |

$A AR, 50 BET Sl BEGM TGH hl T3 AR Thd g SEIRET |
T 1,80,000 HTYs T femaT TR |

39 I o YR W, Fferfaa weai & 3w e
(1) & TS FIAT ol G HI WM Hd §Y, SISV F9 H h I |
(i) = HINT fop Fa1 I g1 o8 el fepr TG 8 AT 4 |

(i) () TGl T TAM Heh, T R T ThR hi & T8 SEG
! F&AT 1 I |

AT
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SECTION E

This section comprises 3 case study based questions of 4 marks each.

36.

Case Study -1

A scholarship is a sum of money provided to a student to help him or her
pay for education. Some students are granted scholarships based on their
academic achievements, while others are rewarded based on their
financial needs.

Every year a school offers scholarships to girl children and meritorious
achievers based on certain criteria. In the session 2022 — 23, the school
offered monthly scholarship of ¥ 3,000 each to some girl students and
< 4,000 each to meritorious achievers in academics as well as sports.

In all, 50 students were given the scholarships and monthly expenditure
incurred by the school on scholarships was < 1,80,000.

Based on the above information, answer the following questions :

i) Express the given information algebraically using matrices. 1

(i1) Check whether the system of matrix equations so obtained is
consistent or not. 1

(ii) (a) Find the number of scholarships of each kind given by the
school, using matrices. 2

OR
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(i) (@) 9 SEGRT H GAARET, ST Th SR I TR Th AT BH
%l TGH hI T 7, I WER e ¢ AW, ql Thed 1 ATYh @
T BN ?

ThTOT ALTIT - 2

37. TI-IIH DO bl Hgd H ATcATIZITE U2l v H S hidl & | S99 BHEI hl
ATH-FHE 9edl & | BT o A&l 8 IdT Ioi1 8 Toh 9T 50% B0 4 32
FHTYAT T ITANT hich T &A1 U0 <hl 3K Gg ol HI AT |

E-HAIT

Teh BT T o VA hl 9¢H H Teh & H 1592 T 6 5 doh o1 THY FdId o
Hhdl & | Uk B g ST U T 21 hl &A1 hl IRehal e A= feam
TR

kx2, x=1,2,3 %
P(X=x)={2kx, x=4,5,67%C
0, 3TAT

&l x H2l ! @A ! Y& HT 2 |

TR g1 o Mg R R, Frfafea st o 3 i
() SR feu U IRerdr Seq sl TRehdT s difeteh] o ®9 H oIth hifold |
(i) kT O Fd T |

(i) (%) BT g AT fohU TT T2 sl BT T HIET 1 I |
Jroran

(i) (@) P(1<X<6)FM i |
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37.

(iii)) (b) Had the amount of scholarship given to each girl child and
meritorious student been interchanged, what would be the
monthly expenditure incurred by the school ? 2

Case Study - 2

Self-study helps students to build confidence in learning. It boosts the
self-esteem of the learners. Recent surveys suggested that close to 50%
learners were self-taught wusing internet resources and upskilled
themselves.

SELF-STUDY

A student may spend 1 hour to 6 hours in a day in upskilling self. The
probability distribution of the number of hours spent by a student is
given below :

kx2, forx=1,2,3
PX=x)=1:2kx, forx=4,5,6
0, otherwise
where x denotes the number of hours.

Based on the above information, answer the following questions :

(1) Express the probability distribution given above in the form of a
probability distribution table. 1

(11) Find the value of k.

(iii) (a) Find the mean number of hours spent by the student. 2
OR
(i) (b) Find P(1 <X < 6). 2
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Case Study -3

38. A bacteria sample of certain number of bacteria is observed to grow
exponentially in a given amount of time. Using exponential growth
model, the rate of growth of this sample of bacteria is calculated.

The differential equation representing the growth of bacteria is given as :

P . . . .
aP = kP, where P is the population of bacteria at any time ¢’

dt

Based on the above information, answer the following questions :

(i) Obtain the general solution of the given differential equation and

express it as an exponential function of ‘t’.

(i1)  If population of bacteria is 1000 at t = 0, and 2000 at t = 1, find the

value of k.
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